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101|R#A7 L 130 33 97| Kg |EE 2,160 1,080| & 3,240 756
102|357 L 3,098 3,098 Kg BIE 1,566 532
111|&EEF £ 767 767| Kg BRE - &4 1,728 324
113|RAV S 135 135| Kg fE 3,564 540
114|B5EFE 295 295| Kg BIE - BE 2,700 1,296
117[14 % 393 37 356| Kg |EiE 3,240 1,188| £ 3,780 540
121{hblE € 11 2 9| Kg |EE 1,080 =35 1,080 972
134[#= 312 146 166| Kg |EfE 2,160 1,200| £ 2,160 1,188
140(5 I 21 21| Kg b 40,320 17,280
147|E2 O 128 128 Kg RS - B 16,200 4,000
158|EFEA A LS 623 623| Kg ERE 2,214 324
201{Lvb L 765 765| Kg RI5 - B4 540 216
203|/hd L 148 148 Kg =5 486 216
205|3L8 L 930 930| Kg L 605 467
206| = 1F 790 790| Kg X 713 216
208|m>% 580 580| Kg =5 1,404 216
2094 B & LA 542 542| Kg B 1,080 540
210{1F AL 652 380 272| Kg |Ei 5,400 972| K% 4,050 972
212|&5E.3 Y 381 381 Kg K5 - Al 2,106 1,150
222|052 30 30| Kg B4l 504

252| VA EECH 182 182 Kg |7 4,104 486

254|E b ECH 985 985| Kg I 3,186 972
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303[A 27z 56 23 33| Kg [|RIF 788 408|t@# 972

306|L e k) 10 10 Kg |RI&E 734 560

3191 h o 285 285 Kg REB 2,700 1,080
332\l ®A 280 280 Kg i 2,052 1,944
3BlHHY 107 107 Kg FEE 5,616 3,186
3541 <Y 58 20 38 Kg 1,080 972| 2K 1,728 1,296
3/5|HEY 180 180 Kg A0 - 1,728 600
356|L L& 85 85 Kg SHR 1,512 810
3577~ E 13 13| Kg FEE 3,888 1,013
358| KE 13 13| Kg A0 3,456 1,728
362(m & 9 9] Kg FE 1,620

401|H W 68 8 60| Kg [#E Iz & 2,160 1,728
4025 E 25 25  Kg FAN 6,480 5,616
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RN L 30 30| Kg F 1,450 1,390
AEBRA AT 685 685 Kg 3 3,240 1,080
BRECEZV 10 10| Kg 73 1,620
ARUEAT 30 30 Kg 3 1,620 1,566
SE WA AR 60 60| Kg F 1,050 800
TRER 136 136] Kg JtF 1,296 270
BRI 735 735 Kg 73 2,500 1,750
RS T 96 96| Kg 3 1,836
BRTYE 400 400 Kg AtmE 540
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70110 BA 1,420 1,182 238 Kg |EE 2,862 1,242 & 3,240 1,544
71019 2 ®HA0F 156 156 Kg =N 1,530 1,224
713|L L» HHF 5 5] Kg EE 7,200
BlEFAI L 15 15| Kg & 1,163 1,103
755|FH&» C 58 58] Kg Ko 987 710
7611 b BHAEL 30 301 Kg EE 2,121 1,980
801|BHL =T 1,181 1,181 Kg ¥ - A 2,592 1,000
802|111 20 201 Kg blo ] 1,242
805 = 1E 278 278 Kg bF 1,598 691
810|BAKTF 102 102 Kg B =2 2,592 1,674
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